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FACULTY OF SOCIAL SCIENCES
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ECONOMICS
Paper VIII
(Statistical Methods)
(MCQ & Theory)

(Monday, 29-10-2018) Time : 2.00 p.m. to 4.00 p.m.
Time—2 Hours Maximum Marks—40
N.B. .— (1) Attempt A/l questions.

(11)  All questions carry equal marks.
(ii7)  Use of calculator is allowed.
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MCQ
1. Multiple Choice Questions : 10
TEIARE T
(1) Which one of the following is not a measure of dispersion ?
(a) Range (b) Quartile deviation
(0 Standard deviation (d) Mean
Trefiedeh! o AT foaemefier @l ?
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Who has framed the first index number in the world ?

(a Italy (b)  America
(0 Japan (d)  France
S HAGH IO ¥ FSweR TR el B 2
(a) el (b) TR
(@ UM (d wiE
Which of the following is a kind of correlation ?
(a)  Positive and negative correlation

(b) Simple and partial correlation

(o Linear and non-linear correlation

(d) All of the above

EeAedeh] IV Heqaer= YR 3T% 2

(2) o 30 R0 WedsH

(b ~ Gren s STt WeEew

(¢ T enfor eRea weday

(d  FAdent Td

Range means............ccooceieviiiiiniiciiinnncinnnn

(a) Comparison between two values

(b) Difference between two values

(0 Difference between large values and small values in distribution
(d) ~ Distributed value

TIRR. T8I e eeeeeeeeeeeeeeeeeeeeeeeee s

(a)  <F e qor

(b))  TH A Feh
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Calculate the Laspeyre’s index number from the following data :

Zp1qg = 190, Zpyqy = 240
(a9 69 (b  79.16
(0 100 (d  0.79

~

ETelial ATfgdi=a STER A= s el :

Zp1qg = 190, Zpyqy = 240
(@ 69 (b) 7916

(o 100 (d) 0.79

If Q; = 15 and Qg = 30, then the coefficient of quartile deviation is :

(a 0.33 (b 33

(0 15 (d) 30

SR Qq = 15 2 Qg = 30, W =geeh fo=e oM =M@l :

(a)  0.33 (b) 33

(o 15 (d) 30

Which one of the following is not component of time series ?

(a) Normative variation (b) Seasonal variation

(o) Cyclical variation (d)  Secular trend

ETATAUeh! IO Weh ShicTHICTEl Sk Tal 2

(a)  oTeyiemeT foa=rm (p)  HraHr foaerm

(0 =g fa=o (d) TeimeE o
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(virn)  If standard deviation = 10 and mean = 30, then find the coefficient

(ix)

(%)

of standard deviation.
(a 3 (b) 30

(0 0.33 (d) 300

S g7 faged = 10 ST FE=R "71ed = 30 T 907 fa=e el ok Fel.

(@ 3 (b) 30
(90 0.33 (d) 300
Solve : F=L

"= i x 160
(a 2 b 05
() 40 (d 1
e - r:ﬁ
(@ 2 b 05
(0 40 (d 1
Solve : POl«/%X% x100
(a) 10 (b) 100
(90 110 (d 111
Hrea POU/%X% %100
(a) 10 (b) 100
(0 110 (d 111
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Theory
2. Calculate the standard deviation and coefficient of standard deviation from
the following data : 10

Class Frequency

2-4 3

4-6 6

6-8 10

8-10 12

10-12 10

12-14 8

14-16 6

16-18 5

@leitel Aifgdi=a STER yAvl fa=em oo« U FEl

EAl FRarRar

2-4 3

4-6 6

6-8 10

8-10 12
10-12 10
12-14 8
14-16 6
16-18 5

Or
(fenam)

What is correlation ? State the types of correlation.

TeEeY US| ¥ ? HgHeHrd YRR 9.
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3. Calculate the coefficient of correlation from the following data : 10
X Y
9 15
8 16
7 14
6 13
5 11
4 12
3 10
2 8
1 9

Trefiel A= SMeR Teqad Ueh el

o

Y
15
16
14
13
11
12
10
8

9

o N W s gt O 9 o ©

Or
(feram)
Define Index Number. Explain the importance of Index Number.
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4, Attempt the following questions (any two) : 10
(1) Calculate Fisher’s index number from the following data :
Goods 2005 2010
Price Quantity |Price Quantity
A 3 5 4 6
B 4 7 6 8
C 5 8 7 9
(i)  Calculate the quartile deviation from the following data :
X Y
5 2
10 4
15 7
18 10
20 8
25 5
30 2
32 1
(zz1) ~ Components of time series.
(iv)  Range.
GeAtedeh! HIvmE g geArE s fem
(1) wrcla Afgdten seaR fRsreEn fesme w@ ¢
aE] 2005 2010
ferma ) ferma AT
A 3 5 4 6
B 4 7 6 8
C 5 8 7 9
P.T.O
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(i)  Eella Hifedrean SER IqY® fo=er @@l
X Y
5 2
10 4
15 7
18 10
20 8
25 5
30 2
32 1

(i)  HITHIAE HTh

(1v) for.
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